Discussion Questions: Asia

In 1989, Artal Fresh Fruits agreed with PT Sinar Mas Tunggal to produce bananas in Halmahera, Indonesia.  Artal provided technical advice while Sinar Mas established the plantation.  The plantation was planned to cover 2000 hectares producing 48,000 kg of Cavendish bananas per hectare annually.  Under the joint venture business plan, the bananas would be exported to Japan, at the same price as Philippines bananas.  The joint venture broke down partly because the price of banana exports did not meet the projections.  

a. In 1990, the Philippines exported 585 million kg of bananas to Japan at an average price of 77.71 Yen per kg.  Using relevant demand and supply curves, explain how the additional Halmahera supply would affect the market price.
b. Assume that the Japanese demand for Philippine bananas depends on the price of bananas, GDP, and population.  Using 1987-97 data, estimate the elasticity of Japanese demand.  (Data is available at http://www.comp.nus.edu.sg/~ipng/restricted/data/index.html)
c. Using the elasticity calculated in (b), calculate the effect of the additional Halmahera supply on the market price.  Is your result consistent with the break-down of the joint venture?
Answer: 

(a) The additional Halmahera supply would reduce the market price, by an extent depending on the price elasticities of demand and supply.

(b) Omitted.

(c) Omitted.

In 1998, faced with depressed DRAM prices, Mitsubishi Electric decided to idle its Fukuoka and Kumamoto plants for the “Golden Week” beginning April 29.  Among Japan’s other four major DRAM manufacturers, Fujitsu and Toshiba also decided to stop operations during Golden Week, while Hitachi and NEC announced that they would continue in production.  

(a) Explain the difference among the decisions of the five big DRAM manufacturers regarding production during Golden Week in terms of differences in their short-run break-even conditions.

(b) How would the decisions of Mitsubishi, Fujitsu, and Toshiba to stop production during the Golden Week affect the short-run industry supply?

(c) By January 1999, some analysts predicted that Mitsubishi would exit the DRAM industry.  How would this decision affect the long-run industry supply?

Answer:

(a) The short-run market price for DRAMs may have fallen below the average variable costs of Mitsubishi, Fujitsu, and Toshiba, while it still exceeded that of Hitachi and NEC.

(b) They reduced the short-run industry supply.

(c) This would reduce the long-run industry supply.

Hong Kong is a Special Administrative Region of China.  Travel between Hong Kong and Shenzhen in China proper is subject to immigration and customs control.  At the time of writing, people could cross the border for up to 17 hours a day, while trucks could cross through the Lok Ma Chau Terminal 24 hours a day.  Shenzhen Mayor Yu Youjun called on Hong Kong Chief Executive Tung Chee-hwa to open the border to people for 24 hours as well.  However, he acknowledged, “This is not an easy question and Mr Tung is also cautious …” (“Shenzhen pitches for improvement”, South China Morning Post, June 23, 2001).

a. How would the extension of border crossing hours affect owners of residential property vis-à-vis office space?

b. How would the extended border crossing hours affect Hong Kong supermarkets as compared with retailers of durable goods?

c. Most freight traffic through Hong Kong’s port and airport is trans-shipped by truck to or from China proper.  How would the extended hours affect the business of ports and airports in China proper?

d. Considering that the border is already open to people for 17 hours a day, what do you think of the fears of Hong Kong property owners and retailers with regard to 24-hour crossing?

Answer:

(a) Owners of residential property would be affected relatively more.

(b) Retailers of durable goods would be affected relatively more.

(c) Unaffected, as freight traffic is already allowed to cross 24 hours a day.
(d) Most people are asleep and very few people shop during the hours when the border is closed.  It is unlikely that the extended hours will have much impact on people’s choice of where to live and shop.  Exceptions: visitors to nightclubs and massage parlours.
In the 1950s, the Chinese Government divided all agricultural land and the rural population into collective farms.  The government set production targets for each farm and paid workers a fixed wage.  However, in the late 1970s, Premier Deng Xiao-ping and Agriculture Minister He Kang reversed policy and introduced a “responsibility” system.  Each individual farmer was assigned a quota to produce for the government but could sell surplus production for his own profit.  (“Food for thought from He's little green book”, South China Morning Post, October 15, 1993, page 25, and “Pledge to lift farm incomes”, South China Morning Post, December 4, 1993, page 8.)

a. After the shift from private property to the collective system, why did the government find it necessary to set production targets for the collective farms?  

b. Can you explain why collective farms used relatively more fertilizer than privately-owned farms?
c. How would the shift from a fixed wage to the “responsibility” system affect worker productivity? 
Answer

(a) Under the collective system, each worker received a fixed wage, hence had relatively little incentive to work hard. 

(b) With farmers working less hard, the farms had to use other ways to raise productivity.  One was to apply more fertilizer.

(c) The “responsibility” system gave the farmer the residual income from his effort.  Provided that the quota was less than the economically efficient production, the farmer would choose the economically efficient effort.

At the time of writing, the Jockey Club had a legal monopoly over gambling in Hong Kong.  The Jockey Club offered horse race betting at race tracks, through off-course betting centers, and through a specialized terminal that could be attached to a telephone.  The Club, however, was slow to offer Internet betting.   Of the Club’s … off-course betting centers, ..% were along streets while …% were in shopping malls.  The Club faced substantial competition from illegal gambling within Hong Kong and Internet gambling services from overseas.  In the financial year 2000-01, the Club paid 15% of all betting revenue to the government in taxes. 

a. Use the concept of negative externalities to explain why a relatively high proportion of Jockey Club off-course betting centers were situated along streets.

b. The Internet is an open system and allows access to websites all over the world.  Explain why the Jockey Club might hesitate in promoting its gambling services over the Internet.

c. How would de-monopolization of the gambling industry affect the demand for illegal gambling?

Answer:

(a) Jockey Club off-course betting centers attract a clientele that retailers of other products such as toys and children’s clothes might consider to be undesirable.  Mall owners would charge off-course betting centers disproportionately high rents to reflect the negative externality.

(b) The Club might fear that, by offering its services over the Internet, it would expand the population of Internet gamblers, and hence reduce entry barriers to on-line competitors.

(c) Legal competition should force down the price of gambling, and reduce the demand for illegal gambling.  Illegal gambling would still persist owing to the taxes on legal gambling.    

With fiscal 2000 sales exceeding $5.1 billion, Taiwan Semiconductor Manufacturing Corporation (TSMC) is the world’s leading semiconductor “foundry”.  TSMC does not market chips, but specializes in manufacturing semiconductors for others.  Among TSMC’s clients are Analog Devices and Capella Microsystems.  Founded in 1996, Capella is a so-called “fabless” chip designer with no manufacturing capacity.  By contrast, New York Stock Exchange listed Analog Devices both designs and manufactures chips.  It has several wafer fabrication plants, but chooses to contract some manufacturing to TSMC.  The fixed cost of a wafer fab is hundreds of million dollars.

a. Compare the vertical boundaries of TSMC, Analog Devices, and Capella.

b. What factors should a semiconductor company consider in deciding whether to use a foundry or produce chips internally?

c. How do these factors apply to Analog Devices as compared with Capella?

Answer:

(a) Analog Devices spans design and manufacturing, while TSMC specializes in manufacturing and Capella specializes in design. 

(b) In favor of a foundry: scale and scope economies, internal monopoly power, moral hazard.  Against a foundry: holdup potential.

(c) Analog Devices may be using TSMC to counteract internal monopoly.  Capella’s production may be too small to justify the fixed cost of internal production.

